EARAROBEEIERT — 2 N— IBISH —F

20185128228 (+) 5EFIU7H

R REXA

REEFI

[($57E] Fikb

EZS

& ‘ [RERSE] — | & (&) 1800M B

[A~&£] 1 7% 5,000,000  ~ 23 :2,000,000H 33 :1,300,000 " 43 :750,000 " ~ 5 j& :500,000

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
5 e o2 | HEUHE 1:55.9 5-4-5-3 | 38.5| 83.5 | 4 488 | NE—F (EiH)
1 12| F A LA KDY 55.0 o g | EEE
LT RYAVYL—> B:TI—LA KDY A &
- = 4 2 | SHERK 1:55.9 1-1-1-1 | 38.9| 83.3 | 2 538 | ABB ()
ol F—E>TF¥—7F 55.0 (7€) (46) | BlIES
R4 B:xS 299507 =Litie
> = s 2 | KEFHRTR 1:56.1 8-8-7-5 |38.5| 81.8 | 3 472 | SRR (3EH)
311 | ¥V RXRT45— b * 55.0 (3/4) © |ViridiankeibaClub
R:F1—-7TTVS>F BIN-JL-X b el
7 = s 2 | FPEAR 1:56.4 2-2-2-2 | 39.3| 78.2 | 1 500 | FOEHE—ER (&)
4|8|15| 12X/ TTIVT A52.0 (1 3/4) (-¢) |HLEZ
R:a24%v ML B:ax/L13 BRES 4%
. N # 2 | BREE 1:57.2 16-16-14-13| 39.1 | 72.5 | 5 496 | REEE (EH)
5[1]2|N\rE—NL— 55.0 ) o0y | AR
RIZXHTI=Z9 IR BRA—bFAF o RIS
# oo | LEmEE 1:57.6 | 12-13-10-9 | 39.8 | 68.5 | 7 | 474 |fEEESEE (58
6|5[10] hF¥XxFTI— 8.0 2 1/2) o |HEE#
LV RKYIYRIR B:24799a34— KE B
[N BN : —6—4— REE= (@)
7 3| vrLERA [B] o2 B (17;5;% 6-6-4-3 | 40.3| 68.8 | 10 zg;; e
L:7-07+—2 B:H¥TA 55 Rikis
N g o2 | BBER 1:57.6 6-6-7-5 |40.1| 68.7 | 11 516 | REEB— (%)
s 4| -1 XA TH~— 55.0 (757) e e e
LTANNGTFY— B:H~v—03H—Ib EEZX %Y K
o= 4 2 | AAKX 1:58.0 11-10-10-10| 40.1 | 65.5 | 12 | 480 |=fi&tEE (E#)
9 5| TUa—-Y3=Xb 55.0 2 1/2) 46) (5) 1RET2-T 57—k
L4 o B e LNV ES b e
2R H o2 | REES :58.0 12-12-7-8 | 40.5| 65.8 | 6 504 | SREBA (GEH)
1007 13| b¥/ I KU 5.0 (~F) o |BEE
LNy vH—Ib B:TS5C hFvy T AKXk
4 2 | IHERS 1:58.1 3-4-2-5 |40.9| 65.3 | 8 472 | AL (GEE)
111714 A7V >HRTAY 55.0 s (1) | DOEEEE—
L2 Hh—9 B.XX/z40 A PLANSTT
B 2 | BEXLET 1:58.3 12-13-14-13 40.2 | 63.2 | 13 | 400 |E2HR (Ei)
Eﬂ 7 | AT I #53.0 (1 1/4) (a) | #®) YGGHE—255T
R:N=F4N=-F ¢ B:Za—-700-%7 YNy 7Ty —L
S EILS L o2 | BB 1:58.9 15-15-16-15| 40.5 | 58.7 | 9 484 | KEFEIL (EH)
131816 VAR I N ¥c54.0 (31/2) (1) | R
R:y07% B:UUT4T SHA T Y 3 kR EH
. = s 2 | Aot 2:00.0 8-9-10-10 | 42.2 | 52.5 | 15 | 444 |#AKERF (Ei8)
Eﬂ g|AyaA-INFT—7 %53.0 %) (-g) |J=EmEE (H)
R RKYIYXIR BikyA—HL—> Eliztve]
[T 4 o2 | HUKs 2:01.7 3-2-5-10 |44.3| 44.0 | 14 | 434 |FHBE= (EiH)
15/5/ 9| Fr>EFE-X ~53.0 1) 4g) |FEEIE
L:IA2>T75y2a BIT7TILY MR
N B2 | FEX 2:02.0 10-10-13-15| 44.0 | 41.5 | 16 | 420 |#AZKEEFI (55i)
EHH TA4T7 =N 54.0 ) (-10) | _VB) BEYS
S NE  ed % 2 = SVAVI A U2 Palzcbae ]
@ 71 L
) 51.9-38.9
NA> &AL | 12.7-11.8-13.1-13.4-13.0-13.0-13.0-12.9-13.0
® I —F—@EBIERL
13—7F— |6,15(9,14)12(3,4) (1,8)11,5(7,10,13)16,2
2= = 6(9,15) (12,14) (3,4)1,8(5,11)13(7,10) 16,2
Gol=5r= 6(15,14)3(9,12) (1,4,13) (5,8,10)11(7,2)-16
43—+— |6,15(12,3) (1,14,4)13,10(9,5,8) (7,2) (11,16)
[ N3
BB 12 490M 714K 6-12 530M e E 3-6 1,140 JEHE 1-6-12 2,040/
8 B 12 170 1-12 470M B = 6-12 1,500/ B 12-6-1 12,420M
6 140 1-6 510 | | & & 12-6 2,980
1 1604

ABICOVWTRDTEEERROODE. TR LIV,




